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Leastsquares
Two canonical problems in linein algebra

Solve AE I A is a square nor matrix

Find the best solution to a system AE I where

A is an mxn matrix
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One version of thebest solution is the least square solution
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Let f b AI residual vector
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Goal min HAE Toll without solving the normI equators
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Instead of solving At P which has no solution
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So this suggests that we want to find an orthonormal
basis for collat V spanviii n Un and then project
Ts onto V firmly I
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The heir system A I UUTI is consistent


